Day 5.notebook September 12, 2018

3. 2x(x - 2) 1& 2. See next page. 1-4 HWAnswer Key
4. 4mn(m - 2n + 3mn)
5.(x+1)(x-1)

6. (bx - 6y)(Bx + 6y)
7.(x-3)(x+4)(x-4)

8. 5x3(x* + 3)

9. (11x + By)(11x - By)

10. (16x% + 1)(4x + 1)(4x - 1)

11. (x + 4)(x + 3)(x - 3)

12. 6rs(bs - 4r + 1)

13. y(y" + 1)(y* - 1)

14. 9(3x + y)(3x - y)

15, -11x> + x? + 8x +4

16. -3x%y* - 6x*y? + 12x%y* - Ox?y?
17. 10a? - 33ab + 27b°

18. -7x> + 26x% - 10x - 15
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1. Algebraically prove why a®-b® = (a+b)(a-b) by simplifying the right side.
atv: axtab-ab -b*
olt-b* = a Thw

2. Using a=5 and b=2, show that a®-b? = (a+b){a-b) is true.
(5% (2)F=(5H2)(52)
28 =4 = (7))

Al = P
v
Factor mmplefelyl;ﬂ Gk 05>
3. 2¢-4x OY 4 am®n-Bmn®+ 12m'n’ 5. x' -1
S2X(X-2) = Ymal(m-2nrdm) =0
06> (o o ﬂ:,cF
6. 25x° - 36y° 7. %% = 3x° - 16x + 48 8. Bx" + 15x°
=Gxbglontey) yafx-3)-1lX-3) =5 (x3+3)
= (XX y*—ib)
= (x=3Xx +O0)
00> op o5 Beowp OV

9. 121x° - 25y° 10. 256x" - 1) - 11, %7+ 4" - 9x - 36
=f\\x e = (1ot 06 = = B v
(1 i X 531) =Ger e =£ift;{ﬁ?iéf)
= % +) (¢ +3)K=3)

TS

(e E ceF100 6T

2. 30rs* - 24r's s brs 13,y -y 14, s12- 92 &°F 10
-y 2a_ - 1t

=brs(5s-4r+) ¢ (g, 1 A%y

--gﬂ{%ﬂfa(&“-m) =9 Gty ) Cxy)
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-5 [ a P& 6 FE_L'-JF‘ lf"‘
Re=wrife r.m:h polynomial in standard form uppl'fing the operations in the
appropriate order,

15, (2% + 3x + 4) - (11¢° + x* - Bx)

= 2 ngw—ﬂx?’"x 53X
= —HXS-I-I;(F’"' +8x ¢

16, -3xy?(2x7 + x°y" - dxy + 3x)

= bx'y*- ?;xg'ght;\x‘;r"*‘fx}_‘“
‘—~'-5x33q -6 x* +l&w3} ‘?x}

17. (2a - 3b)(5a - 9b)

= j0a*= Tab-1Sab T b>
= J0a* -33ab tab"

18. (5 + 5x - 7x%)(x - 3)
n){(S'fo TK) 3(5+5x-1x%)
5}{1‘ﬂ\' M - 15 -‘-__.i‘i('J'J—LX
= =Ko 0K TIS
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1-5: Factoring L.ong and Short Product/Sum ox* Yox tc
Factoring Trinomials using Product/Sum (with leading coefﬁcci%nt = 1):

Example: Factorthe following trinomials using Product/Sum long form.

Peod =o-¢ = 1((9) =1 ‘WOJ = (0(5) >30 30

1. 2x2+ 13X +6_ Sbm=b = \3 2. 6x2-13x+5  Suwm = —13 3=/
/ /\D('H\ 1 /) 5 MORMAL FLOAT AUTD REAL RADIAN

seliy ficng 6301 +S
x(A**B*—_@xH) l?.x—\) 5@7(——) 15 ) l;: -36

{ (2x D)) )(j ) 35) g 12 & P30

= 4,
2t av.3 Ped="12 2 CAx . === Ettrry
3. 4x/ix 3 St = <= 4. 4x2-4x-3 qg—_ﬁ
Yyt2xtox —3 @ x=1
o @x-Dt3(8x\) —

(ax-D( au+3) E&w@(m/@}
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Y4 e =0 2 L
@3:; 2L 6. 3x2-Tx +2
i el

2y (x+ DXt

(((\u‘ 2)( BX-L)

5x2+2x- 3 P“’Sz 8. 5x2-2x-3
S
ULy — 3y -
Sy Sy =3+ 3 5, <3

S5 (x+1) -3(xt)
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Factoring Trinomials (with leading coefficient=1): g = \

Example: Factorthe following trinomials using Product/Sum short cut.

1. X2+ 6x+8 Sm_’(‘?)‘g 2. x2-13x+40 Dsrﬁﬁi?\s 4o
(5Dt e 214 (*-5XX=5) e
Lot Bruard 4o e
areuner bEcause 5.8
az=|
3. x2-3x-40 9=—‘g3 4. x2+3x-10 P=—go
S== 3 =
(EXxt5) "3 s (DX s
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5. x2+7x+6 =b
Gt e

N ?-_"(ﬂ
7. X-+5x-6 S =5
(x- D) 2

September 12, 2018

P=0
6. x2+5x+6  S=5
2 —_—
(tD(xt3D
2 3
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3 derms, Zmﬁer‘m c;kPonan*('\s h ot tha I tervy Ut

eypore
/@ b@S X +ox +S i
(X+1 Yx+5) (X +D(x" +5)
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Factor Completely: 2y®+ 6y2+4y

Ay 34+ (3

What is different about this one? Try factoringit. 2 \G ¢ . ‘OICS
X2+2xy-24y2  e=-2¢ \ora PIS

/\ S=2
i L FRLL NIt -
x(i—\-(o\_»b—"}g (X*‘gfb
\(xﬂo@(x-—"}j) ]
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2
o thxtc
Describe what is different about factoring the following trinomials, an%hen factor them.
24 x4 24135+ Y
x2+ 6%+ 8 Q\g and 2x2+13x+ 6 % &\
2\ \O' ¢
° v\

-

v \-5
W*kl (o3 (x+2) 49)( -3t

10



	Page 1: Aug 27-12:20 PM
	Page 2: Sep 1-4:17 PM
	Page 3: Sep 1-4:17 PM
	Page 4: Sep 4-12:44 PM
	Page 5: Aug 27-12:24 PM
	Page 6: Aug 27-12:25 PM
	Page 7: Aug 27-12:25 PM
	Page 8: Sep 12-9:51 AM
	Page 9: Aug 27-12:26 PM
	Page 10: Aug 27-12:26 PM

